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QUESTION 1

Which security technique limits access by unauthorized users to parts of an enterprise database? 

A. Views 

B. Concurrency 

C. Locking 

D. Integrity controls 

Correct Answer: A 

 

QUESTION 2

Which term best describes one or more database operations that are executed as a single unit? 

A. Update 

B. Transaction 

C. Procedure 

D. Singleton 

Correct Answer: B 

 

QUESTION 3

Which mechanism provides database users with controlled access to the database through the use of virtual tables? 

A. View 

B. Data dictionary 

C. Database control language 

D. Database management system 

Correct Answer: A 

 

QUESTION 4

What is a candidate key? 

A. The primary key for an entity 

B. The key that identifies every instance of an entity 
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C. Multiple primary keys that are joined together to form a composite key 

D. A key that may be used to form the primary key 

Correct Answer: D 

 

QUESTION 5

Consider the Recreation relation shown in the exhibit. You need to apply a SQL statement to the 

Recreation relation that will return the following data: 

Which SQL statement applied to the Recreation relation will return this data? 

A. SELECT Activity FROM Recreation; 

B. SELECT DISTINCT Activity FROM Recreation; 

C. SELECT Activity FROM Recreation WHERE NOT LIKE Activity; 

D. SELECT Activity FROM Recreation WHERE DISTINCT Activity; 

Correct Answer: B 
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